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Grade 3 Science-Plants and Animals- Final Exam Review

Plant Life cycles

1. Which is not part of a plant’s life cycle?

euhhﬂ\ab;ajjdw;);uﬂ.\jéu\uad\ \

a. Growth sl
b. Death LR
c. losing a branch in a storm Baale A wad gl &
d. Germination Gyl &

2. The life cycle of a pea plant is shown below.

Seedling

-

) Seed
o

Which of these sentences best describes the life cycle
of a pea plant?

ol_m\ c‘){)\.ﬂ\ u_\\_u al_x; oJJJ)@J:u Y

\f%;éi‘ g
P
) >
- w\@&
\\ /-

il 45y jhay oW Ll a5 ) 50 Caual 48V Jaadl (g

a. A peaseed is very large.

P 5 e sV sy |

b. A pea plant lives for years.

Sl yind oY S s Gy

c. There are three stages in the life cycle of a pea

;y‘)\,ﬂ.\\ﬁgaﬁ‘)}d‘;d;\f&m«ﬂl.% A g O

plant.
3. A new plant grows from a Blank O buaal) Aaall et | Y
a. Root Dl
b. Petal al o
c. Stem gl &
d. Seed 3ol &
4. Which plant reproduce using cones? g lLadY) aladinly i Al bl 4 0
a. flowering plants 3583 jall il
b. Conifers suall o
c. Ferns ol &
d. Potato Waldadll &

5. What kind of seed do you need to plant to grow an
oak tree?

QL)LBMML@Q\JJCu&\J}Jﬂ\Etu

SN
)

3|0|&

=
& |.
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6. Which does a seed need to germinate?

Sl 3l aaliad 3 L 4

a. freezing temperatures at night

M\@EJ@ABJ\P:\;JJ i

b. to be eaten by an animal

50 JSL s sy

c. water, air, nutrients, and the right temperature

@UAEJ\J;Q\;_)JJ c:\:ma_'a' cla &

d. only water clo atd &y
7. Which is the movement of pollen from the male 38 ) 8 s SW e sl e Wl g S ja A e N
part of a flower to the female part? o syl e 5all )
a. Pollination calll
b. Seed formation sl p S @
c. Germination Gyl @

d. Life cycle

slall 3 90 &0

8. When a seed germinates, it

Ll iYL 5l o i Laic )

a. Reproduces PRt
b. Begins to grow saill o
c. Grows leaves B sY) sali &
d. Dies Ggad

9. Pinecones makes for new trees.

suaall Hlasdu gy suall jladl Y

a. Seeds

sl

b. Leaves

S o

10. A seed holds a(n)
young plant.

, which is a

a. Embryo

opall ]

b. Trait

PRI

11. Name the two plant structures that can make
seeds.

fbLall (8 o2l O srinay Gaalll G adl Laa e A

a. Flower and cones

b. Roots and leaves

GlosYs sl o

12. Give an example of how a seed can get to the soil.

ol )55 Jpemy AeS e Jlia Ll )Y

a. Humans can plant a seed in the soil

il s e pdill

b. Animals may accidently take the seed to the
soil.

Al a5l ot o) Adaally Sl el (S o

c. Seed can be transferred through wind and
water to the soil.

slall 5 ~ bl oy &5 8l ) Jaiss ol oAl Sy &

d. All the above.

T Y e

13. The seeds inside a fruit can grow into new

S

RETEES ool A8 Jala 53l gati o 8y VY

D)
SO0

a. Seeds 3o

b. fruits il o

c. Plants PLTR G
14. Which is the job of a flower? a3l Ay Al Vo

a. to make seeds sl p s

b. to keep animals away Ty il gaall &) o

c. to fertilize the ground oo Y cadi &
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15. Which does the fruit of a flowering plant hold?

¢ 5 all Ll 5,5 aleas ol Le 1

a. Cones glady) |

b. Pollens gl s o

c. Eggs Uasn O

d. Seeds o &
Plant Traits

1. Features that make an organism unique are
called .

Lol Lo oak
M L e

a. Offspring

b. Special s
c. Traits Clia &
d. Freckles Chadll &

2. The passing on of traits from parents to young
is

e Y1 LY e cilanall Juas) Y

a. Characteristics

e
b. Hereditary &,y @
c. Offspring Sl &
d. Germination iy &
3. A flower's red petals are an example of a(n) Sle e A o) paall s a3l O Y
trait Glaall
a. Inherited Gy
b. Variation G
4. A tomato seed will grow into a . gl abalalall 3 50 gali Cogu €
a. Bean plant Jedll el
b. Tomato plant ablehll il o
c. Sunflower plant ol ) gr il &
d. Corn plant 3oAll s &

5. When a seed grows into a plant it most likely
will

OsSiLe Le il sl sati Latie @

a. look nothing like its parent

A bl alia ye

b. look like its parent

Y bl 4l @

c. look like a rose

Baylalie &

d. look nothing like a rose

3yl i e &

6. Inherited traits come from

O A0 A8 ) ) claall 1

a. one parent

sl cpeaaly

b. both parents

ol o
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7. What is one way that pine trees might be different
from each other?

&ﬁ)@\)@i@&ﬁqﬂ\éﬂ\dhj@u,v
¢ sanl) Lgiany

a. They don't look like their parents.

pedls seadn Y

b. Some have a different life cycle.

dabida sbia 3 yila &JS |

c. They don't have the same number of pine
needles.

suall gl aae e oSl Y O

8. Marisol wants to show that plants need sunlight to
grow. She plants one plant in a terrarium with soil.
Then she puts the terrarium in a sunny room. Marisol
makes a second terrarium for the next part of her
experiment.

What should she do differently with the second
terrarium?

iy als ) g Jalisas) g A de) ) j Cuald Y
Cuald dsadia 48y (8 ala )l (aall Qa5 4 58
il o (A 6 all AN pala ) s dery g e

¢ Al

a. She should put it in a dark room
Reason: To show that plants need sunlight to
grow, one terrarium should be placed in
sunlight, and one should be without sunlight.
In this case, no other variable was changed.
This would allow for a fair comparison to be
made to show the effect of sunlight on plant
growth.

Adllbedd e damai g ony
i ¢ palll a5 guim rlind LAl o LY 1)
s a o d ATy paedll ¢ g (B ala ) as pay
ll B 2 ity AR L s al
U‘“"“ﬂ\ ;}AJ;\UJL@_LYMJLGLJEA\;\}}.I \Ahcm.n:\u
bl gad e

b. She should use another kind of soil.
Reason: To show that plants need sunlight to
grow, one terrarium should be placed in
sunlight, and one should be without sunlight.
No other variable should be changed. Using a
different kind of soil would not allow for a fair
comparison to be made.

L e Al s aadid o) sy o
g ¢ gaill uadil) s g 3 cblal) of QY sl
3 O b AV puadll o pa (B ala) G s
ol 8 5 ey (g A8y Hhall 03gy e
Aldle 45 )aa ol jab e G A il e Calida & 5 aladiul

c. She should use another kind of soil.
Reason: To show that plants need sunlight to
grow, one terrarium should be placed in
sunlight, and one should be without sunlight.
No other variable should be changed. Using a
different kind of soil would not allow for a fair
comparison to be made.

Aol (e JATE 53 a0 o gy O
s 3 O3 b AV puadll ¢ pia (A ala) Gas s
oAl B G iy G A8 Hlall 03¢y el
Aldle 45 e el ab e G A il (e Calida & 5 alastiul

9. What are three inherited traits of the plant in the
picture?

-
.

%) poal) 3 Sall 255 pall A el 4 Lo

-

—

BlosY) IS5 s 3 o5l gl g s

a. type of root, flower color, leaf shape .
b. stem height, depth of soil, flower shape B 3l JSS A Al Gee gl Jsb o
c. leaf shape, flower color, amount of rainfall Jdaa) d g A s 30 sl (1,0 JSE @
d. amount of sunshine, leaf shape, type of root D5l g 6@l V) JSE (Guadl) ¢ pa A &
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10. Which of these explains a variation in an inherited
trait?

T2 5 gal) Slanadl 2 DAY oy b Lea (51 .9

a. A plant parent with a white flower produces an
offspring plant with a yellow flower.

el jias ) Ll Al clians p ) g oVl il iy

b. A parent bush has thorns, and the offspring
bush has thorns.

gﬂ\}ﬁ:\ @2\3.\.\@.1.\} El PR Aﬂﬁme\ﬁ\ alall @

c. A parent bush has thorns, and the offspring
bush has thorns.

A 5l gn A et g o) 551 liag ) Sl

d. A plant has greener leaves when it is fertilized.

LQ_ILLAA\?.L\LQAJS ).\S\ c\)m;d‘Jj\éuﬂ&_ﬂ_d\ &

11. A peach tree has an offspring. Which trait is a
variation of an inherited trait from the parent tree?

ML;A\M\L;&»LA bJMbJJMCJAj\a)ML‘ﬂM 'Y

a. Height Jshall
b. leaf shape Sosy) s w
c. type of fruit il 8 &
d. color of flower oAl ol &

Animal Life Cycles

1. Which is not an example of a salamander's life
cycle?

¢ iandl 3m 550 (e s om 2 Y W e ol )

a. egg hatches

canll i |

b. loses its gills and grows lungs

O pai g pdlall 0

c. returns to the water to lay eggs

u'aggj\e.a};\.aﬁ'&d‘yd\ [l

d. has live babies

C—L\A‘d\&k\dﬁj &

2. Compare the butterfly life cycle to the
grasshopper life cycle? How are they the same?

Iluuvlﬂ) Life Cycle Grasshopper Life Cycle

eu@um‘h}w\ aJ\‘);j\}M\‘)ﬂ\ah;a‘)}Juuu‘)lﬁ Y

Grasshopper Life Cycle

Butterfly Life Cycle

/,1 e f - ;"fgg {/ ’ A /)&(
W mqp-,/ f,’f, \ /}&( '\“}&{’ ¥
wAa, b 4 e
/
Both animals fly. ool g€y i) pall IS

Both animals start out as eggs.

Al (8 G LSy ol sl OIS

Both animals hang from tree branches.

ol gaae | e Gy (il sl IS

ale o

Both animals hop.

Oy 8l sl DS 5

3. After a fish egg hatches, it

g clandl Aay s ) ann Y

a. Goes through metamorphosis

Il Alee la a3 |

b. Looks like a small version of its parent

Ll 13 jrame 48K 2 o
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4. Which animal has a life cycle most like a
chicken’s life cycle?

alaall sla 5 53l 4l Slin 5 ) 53 ) Sl g e g 8

-
"

a. (N
b. Bear PN e
c. Horse Obasll &
d. Turtle slaalldl &
5. When does a life cycle end? oLl 5y g0 g0t e 0
a. Never Il gy
b. when the organism dies e A G gy Ladie o
c. when the organism reproduces I sl Sk Laaie &
d. when the organism grows A G el Lvie &
6. After hatches, it usually goes Il Al jal aads Leild o885 ) g €
through a metamorphosis.
a. areptile Caal g3l
b. an insect 3ydall o
c. afish GDWA IR
7. Which statement best describes metamorphosis? bl 48y ylay Jgatll Aa e o AN Jaal) g0 g1 0
a. Eggs hatch O Acanl) |

b. Body forms and shape changes.

BYERTINWEN | g (Nvaran

c. Animals die.

d. Animals feed young.

W jlaa (s33 Gl gall &

8. Different types of animals have different life
cycles. Animal life cycles can be predicted and
compared because they follow a

855 Sy Adline Bla il 5 ellias Adbiaall <l gl o1 53l Y
i LY Ganl Lamns gt jlia 5 il gl 3la ) 0

a. Pattern L |
b. Change ol

9. An animal that goes through metamorphosis
starts life as an

Ll Tt oJ gl dlee JUR i Al i) o)V

a. Bgg oy s
b. Live baby S dibh Ay o

10. Compare the rhino beetle and ladybug life cycle.

How are they different?

( o 2k \ - oLl ’ =

}Aucw‘}u‘)ﬂ\%)cmghﬁ‘)‘jduyu‘)ﬁ/\

a. The ladybug and rhino beetle both start as
eggs.

b. The ladybug has a molt stage, and the rhino
beetle does not.

;mwy@&m‘&fghéﬂ\ G o
Gl Al am
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c. The rhino beetle and the ladybug both go
through a larva stage.

28,01 Aa e Legd LS

d. The rhino beetle eats leaves and the ladybug
does not.

JSB Y elaaiall Loy 3 oY) JSU o el e g elatis &

11.How does a frog start its life?

£ 2iall s 10 a4

a. as a tadpole G d
b. asalarva A, o
c. as an adult oS O
d. asanegg day &
12. Which animals do not undergo metamorphosis & dill lee () aads ¥ Al @l sl Al Y
during its life cycle? Select all that apply. flgila
Aaacall S pren idl
a. Cat adaal)
b. Frog gaall o
c. Snake gl @
d. Beetle sludidll &
e. Human Al &

13. When an insect hatches from an egg, it is called

i Ll Al (e s el i Lexic )

Jib & o

[ R GTRGl)

14. Which animal does not hatch from an egg?

¢ anl) (e ety Y AU ) pall e gl VY

a. owl dagd
c. Firefly el yo )
d. Ladybug elagidll & o
e. Bear Qall & @
é: —,F—‘ “'.
15. = o £ Explain how to

model a complete butterfly life cycle.

A Al ALalS Blia 3 ) 93 e Sy (S )

Larva/ caterpillar should be after the egg
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Animal Traits

1. A group of kittens have the same parents. What is
one way that the kittens can be different from each
other and their parents?

OSan Al38 plall o L ol gl et @lliad Laladl) A gana 0
Sagaall 5 (e 5 (anll Lgiany (e Jaladll Lgy Calias

B S S

a. They can have different kinds of ears.

alidg 3 0S5 1 Kb o oSy

b. They will not eat the same kind of food.

pladall i LY

c. They can be different colors.

Aalisa o ol ) Kl o) Sy &

2. Heredity is the passing on of traits from an PN N | VGRS CEN S A
organism’s
a. Parents ol
b. Siblings 55l o
3.In many ways, young animals are a lot S 5 prall ) gl 40 Baae glsoe.Y
like
a. their mother N
b. both their mother and their father a¥l Y o
c. their father A

4. The color of your eyes, skin, and hair are

Gliall oo dlia) & 2dll g 6 pdall copall ) A

examples of traits
a. Inherited Ligygdl |
b. Learned skl o
5. Which is an example of a learned trait? Sl Cliall e Ui any U e 61 9
a. roller-skating A
b. hair color BN A e
c. eye color el sl &

6. Which of these is an inherited trait?

QMJJJA:\MM‘;&\L)A%‘\~

Select all that apply. Anaall CULY) apey il

a. feather color Sl o

b. Height Jshll o

c. playing piano sl e Caall &

d. eye color ol el &

7. Look at the pictures of the two different Ol Ll S e I ki VT
foxes. A ]

A B

¥

™.

Which variation in traits makes animal A
more likely to survive an Arctic winter than

»

’ “

Yiaial J€I o) galdl Jesgy 53 ilanadl 3 oMY L
Oo ST Ml Calasll b ol Jasd dslall a8 e ool

animal B? Q" o)) gaall
a. fur color sl st
b. fur length il Jehb o
c. ear shape oY JSE @
d. small size Jpall aaall &
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8. Learned and inherited traits help animals

e il gl ae L Auwiall (& g ) sall Cilaaall )+

a. Survive

slall 2 e (dl ]

b. Reproduce

Al o

9. A nocturnal animal __

gl Y
L

By

only lives in deserts

o) yaaall 8 iany

moves constantly

Dl ey &l ay

sleeps at night

Jadll Bl &

S RS IS b

hunts for food at night

S 3 alakal) ddaay &

10.  Why do the baby rabbits look different from
each other?

M-l 7

S anll Lpany (e ddlide YIKE) il Y1 Jlakf ellas 13l ¥

a. They inherited their traits from one parent.

.Qgﬂ\ﬂ\himeé&a\j:j)}_i

b. They inherited different traits from each other.

c. They inherited the same traits from each

Ol o) SIS e laall (udi 168y

parent.
d. They inherited different traits from their Ol 1) S (e Asliaall Cliiall 1555 5 &
parents.

Animal Group Survival

. animals have a better chance of shall a8 o il 5 da i ellia il gall )
surviving when living in groups. Ac sanaS (laai Ladic
a. No A
b. All I
c. Some pan O

2. Look at these facts about penguins.
e Some penguins in the group watch for
predators while others care for the young.
e They can huddle together to stay warm.

e Some penguins in the group can hunt for
food.
These are all advantages of

éﬁjw\ Ce L;\A;j\ sl L;‘ ‘)L.\‘ N
S sitall ) gadl ) 5 gy el Cle sane gans @
JUlYL aigy panill 5
ol ) seilllas panill peiSas @
Anall i Gle senall & Gojlladl (any @
) G it eda S

a. living in cold climates b s Askall
b. having feathers Uy D) o
c. having a black and white coat Uan) g3 gl Calana S &
d. penguins living in groups Gle gana A (G ladl &
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3. A colony of ants is a _ that works Blallag o claliloe Jaai 8 Jaill 5 jerione
together to survive.
a. Group e gana
b. trait a0

4. A school, or group, of sardines can form a large B mS B s JSE Ol 0 ) (e e ganna ol A aad oSl €
circle to protect themselves from . e g Aglaal
a. Predators A yital) ) gal) |
b. the environment Al

5. Choose the example that does not represent an
advantage of animals living in a group.

e gana o Gl Glalagl Lo Ju Y il JE i)

a. A colony of ants builds a network of
underground tunnels.

oaY) and BN (e A0 35 Jaill janiasa |

b. Owls hunt at night to surprise their prey.

T A o2l S0 8 ks ol

c. A pack of wolves works together to hunt for
food.

el dpal e Jary QLA pdad &

d. Prairie dogs alert each other using calls when
a predator is near.

151 L 2223l Gandl Lpns 405 (5l O &
B e it ) s llin (S

6. Some animals, such as wolves and &3 alakall ¢ g g QLA Jia il gl (oamy Y
lions, for food in groups. e
a. Hunt st
b. Sleep A

7. Which of the following statements is not true?

a. Elephant herds work together to protect their
young from lions and other predators.

2 e s dlaad Gae JLaY 1 ladad Jass |
SAY) Al il ) gaall

b. Tigers live together to help keep warm.

Aadly 85 (Slae ) saill Gini 0

c. Fish live in schools to make it harder for
predators to single out their prey.

) gl Camall (e Jran Las (s )lae (8 sl Gled
L 8 e ) A yidall




